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02 B4y 239,760 239,760 0
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0YFEE +8 S 67,600, 000! +5% 3,380
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0o 2,310,000+ 1% +122 27,720
o=olz 1,150,000 %12+ 122 13,800
OuUAAT 7500009 *38 122 27,000
Ol NEREEES 750,000 #1242 3,000
07 AL 8,200 8,200 0
OF=ol5 oIEOls 2LI 7,000,000 7,000
oY<olsl AFEHls 2L 100,000 «128 1,200
08 JE=ploizeez 10,800 10,800 0
0ol RVHILLZ 75,0008+ 12122 10,800
09 SlE=pIAARET 7,492 7,492 0
09 ZOIAYSBHZ 50,0002 12«12 7,200
OFIISYLHE £LZ  7,200,0002 %4, 05% 292
oA DEAY 44,980 39,980 5,000
201 Yereg| 17,000 12,000 5,000
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04 =22 0Hl 27,980 27,980 0
O©232l& a2l 23,000
oo . 2o 2,500,000& x2H 5,000
ool gl 1,800,000& *x10H 18,000
OXNIMHEBATZAl USRS 4,980,000& 4,980
o324y 167,972 213,972 A46,000
ol 2H XA 167,972 213,972 A 46,000
201 Et24d| 100,240 100,240 0
01 At 2telyl 68,960 68,960 0
OgEt=2H| 65,000,000& 65,000
o2gd+sg 960,000 960
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202 044l 15,212 15,212 0
01 =2WdAYI 15,212 15,212 0
oA=& 0| 15,212,000& 15,212
203 PR =& 9,000 9,000 0
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03 RIIHAZZXNE = 13,931 13,431 500
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SPIR= 34,9103 1% »249 8,693
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Jl2Z&Hl 57,660 57,660 0
Jl2&H| 57,660 57,660 0
201 LEt23| 8,000 8,000 0
01 AtE222|Hl 8,000 8,000 0
(@RI S r=u] 6,000,000& 6,000
O=&Hl 2,000,000& 2,000
202 O4dl 40,800 40,800 0
01 =LHO b 40,800 40,800 0
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203 HRF&AH| 8,860 8,860 0
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O23MNE= 29 3,300, 000& 3,300
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